Tools and Installation Instructions G-02

Medium & High Pressure
Fittings and Tubing

Quick Couplings

Medium & High Pressure
Valves

Line Filters

Sour Service Products

Subsea Valves

Tools and Installation
Instructions

Tools and Installation

Instructions

Technical Information

FITOK



G-03 Tools and Installation Instructions

Tools

Manual Presetting Tools

To preset double ferrules onto DHL Series tubing. Tubing sizes available
in 1/8", 1/4", 3/8" and 1/2" O.D.

Ordering Number Tube O.D., in.

Buigny pue sbumiy
ainssald YbiH 3 wnipajy

PST-2D 178 f,
PST-4D 14 -

PST-6D 3/8

sbuiidno) »o1np

PST-8D 1/2

NN

ainssald ybiH ® wnipsyy

Hydraulic Presetting Tools

To preset double ferrules onto DHL Series tubing. Tubing sizes available
in 1/2",9/16" and 3/4" O.D.

Ordering Number Description

HPT-DHF With full set of die heads

Without die heads

HPT-H The die heads can be ordered individually.

sieyj14 our

Die Heads

Ordering Number Tube O.D., in.

HPT-H-DHLS 172
HPT-H-DHL9 9/16

HPT-H-DHL12 3/4
Die Heads

S]ONPOoId 82IAI8S INOS

Manual Coning Tools

Applied in medium and high pressure tubing for concentric cone
processing. All the manual coning tools use the same basic tools on
which the cutter heads and the collets of different sizes can be replaced.
A complete ordering number shall include that of the basic tool, collet
and cutter head. The collet and the cutter head can be ordered
separately. For detailed information, please refer to the instruction

SeA_A BaSONSG

= | FITOK . :
= g manual or contact FITOK Group ,_# ]
o | =
25 Tube Complete
oa . i i
s = connection 0.D. x L.D. g Orderlfng II\:utmber Ort:ecrlrtltg N:ml:jer

& in. Number @il O SR Ll Cutter Head Collet

%- 2FH4 1/4 x 0.109 HCT-M4 HCT-4-CO HCT-M4-DT

=}

2FH6 3/8 x 0.203 HCT-M6 HCT-6-CO HCT-M6-DT

_|

o 2FH9 9/16 x 0.312 HCT-M9 HCT-9-CO HCT-M9-DT

o

=}

g' 6FH4 1/4 x 0.083 HCT-H4 HCT-4-CO HCT-H4-DT

g 6FH6 3/8 x 0.125 HCT-H6 HCT-6-CO HCT-H6-DT

3

o 6FH9 9/16 x 0.188 HCT-H9 HCT-9-CO HCT-H9-DT

o

=}

FITOK



Tools and Installation Instructions G-04

Manual Threading Tools

Applied in medium and high pressure tubing for thread processing. All the
manual threading tools use the same basic tools to process threads by
replacing threading dies and guide bushings of different sizes. A complete
ordering number shall include that of the basic tool, threading die and

guide bushing. The threading die and the guide bushing can be ordered -
separately. For detailed information please refer to the instruction manual v A -
or contact FITOK Group. ! (:}; -

Threading Die Bushing

Conmection  OD.xfp,  geedsi  (GRECS OroringMumber  Ordering Numbe
in. Number
2FH4 1/4 x 0.109 1/4-28 UNF HTT-4 HTT-4-D HTT-4-GS
2FH6 3/8 x 0.203 3/8-24 UNF HTT-6 HTT-6-D HTT-6-GS
2FH9 9/16 x 0.312 9/16-18 UNF HTT-9 HTT-9-D HTT-9-GS
6FH4 1/4 x 0.083 1/4-28 UNF HTT-4 HTT-4-D HTT-4-GS
6FH6 3/8 x 0.125 3/8-24 UNF HTT-6 HTT-6-D HTT-6-GS
6FH9 9/16 x 0.188 9/16-18 UNF HTT-9 HTT-9-D HTT-9-GS

Manual Reseating Tools

The tool is used for repairing the wearing cone seat of medium and high pressure
fitting or valve. A complete ordering number shall include that of the cutter,
antifriction gasket, orientation nut and handle. The cutter, antifriction gasket,
orientation nut and handle can be ordered separately. For detailed information,
please refer to the instruction manual or contact FITOK Group.

Connection %orggiitge Ordering Number ~ Ordering Number Ordering Number  Ordering Number
Number of Cutter of Antifriction Gasket of Orientation Nut of Handle
2FH4 HRT-M4 HRT-4-C HRT-4-G HRT-M4-G HRT-H-1
2FH6 HRT-M6 HRT-6-C HRT-6-G HRT-M6-G HRT-H-2
2FH9 HRT-M9 HRT-9-C HRT-9-G HRT-M9-G HRT-H-3
2FH12 HRT-M12 HRT-12-C HRT-12-G HRT-M12-G HRT-H-4
2FH16 HRT-M16 HRT-16-C HRT-16-G HRT-M16-G HRT-H-4
6FH4 HRT-H4 HRT-4-C HRT-4-G HRT-H4-G HRT-H-1
6FH6 HRT-H6 HRT-4-C HRT-4-G HRT-H6-G HRT-H-1
6FH9 HRT-H9 HRT-9-C HRT-9-G HRT-H9-G HRT-H-3

Cutting Oil

Metal cutting oil is required for the operation of manual coning tools, manual threading tools and manual reseating tools.
Quiality cutting oil serves to reduce the heat and friction between the cutter and the metal, optimize the

surface finish, and extend the life of the cutter.

FUCHS RENOFORM MZAN 51 is offered by FITOK as cutting oil.

Ordering Number: HT-CO

FITOK

Buigny pue sbumi4

ainssald YbIH 3 wnIps|\

sbuidnod yoInp

EEIEIN

S]0NPOId 89IAI8S INOS sJa)|i4 aul oInssalg UBIH g WNIPOW

SoAje) easqng

=)
w
Z
=
c
I3}
=3
I}
>
7

uole||ejsu| pue s|joo|

uolBWIOU| [BOIUYDD



Buigny pue sbumiy

ainsseld YBIH ® wnips|y

sbuiidno) »o1np

NN

S]ONPOoId 82IAI8S INOS sJa]|i4 aul oInssalg UBIH g WNIPOW

SaA_A BaSONSG

=
2]
—_
=
c
o
=5
o
=
2]

uole||e}su| pue s|joo|

uolBWIOU| |BOIUYDD|

G-05 Tools and Installation Instructions

Installation Instructions

Installation of DHL Series Tubing Connections

For Tube O.D. 1/8", 1/4", 3/8" and 1/2"

Without Manual Presetting Tool
1. Put the nut and ferrules onto the tubing in fixed sequence and orientation (Fig. 1).
2. Insert the tubing into the fitting body or the valve. Finger tight the nut. Make sure that the tubing rests firmly on the

shoulder of the fitting body or the valve (Fig. 2).
3. Mark the nut and the fitting body or the valve (Fig. 3).
4. Hold the fitting body or the valve steady. For tube O.D. 1/8", tighten the nut 1 1/4 turns with a wrench. For tube O.D. 1/4",

3/8" and 1/2", tighten the nut 1 1/2 turns with a wrench (Fig. 4).

Shoulder Tubing

Fig.1 Fig.2

With Manual Presetting Tool

1. Put the nut and ferrules onto the tubing in fixed sequence and orientation (Fig. 1).

2. Insert the tubing into the manual presetting tool. Finger tight the nut. Make sure that the tubing rests firmly on the
shoulder of the presetting tool (Fig. 5).

3. Mark the nut and the manual presetting tool (Fig. 6).

4. Hold the manual presetting tool steady. For tube O.D. 1/8", tighten the nut 1 1/4 turns with a wrench. For tube O.D. 1/4",

3/8" and 1/2", tighten the nut 1 1/2 turns with a wrench.
5. Loosen the nut and remove the tubing with preassembled ferrules from the manual presetting tool (Fig. 7).

NOTE: If the tubing sticks into the manual presetting tool, remove the tubing by gently rocking it back and forth. Do not rotate the tubing.

6. Insert the tubing with preassembled ferrules into the fitting body or the valve. Finger tight the nut (Fig. 8).
7. Tighten the nut 1/4 turn with a wrench while holding the fitting body or the valve steady.

Fig.5 Fig.6

FITOK



Tools and Installation Instructions G-06

Manual
Presetting
Tool
p Tubing with
ﬁ Preaslsembled
Ferrules
- e
Nut
Fig.7 Fig.8

For Tube O.D. 9/16", 3/4" and 1/2"

1. Preassemble the ferrules onto tubing using the hydraulic presetting tool. For details, please contact
FITOK for instruction manual Hydraulic Presetting Tools.

2. Insert the tubing with preassembled ferrules into the fitting body or the valve. Finger tight the nut.

3. Tighten the nut 1/4 turn with a wrench while holding the fitting body or the valve steady.

For Plugs

1. Insert the plug into the fitting body or the valve. Finger tight the nut.
2. Tighten the nut 1/4 turn with a wrench while holding the fitting body or the valve steady.

Reinstallation Instructions

1. Insert the tubing with preassembled ferrules into the fitting body or the valve. Finger tight the nut.
2. Tighten the nut 1/4 turn with a wrench while holding the fitting body or the valve steady. After frequent reassemblies,

1/8 turn might be sufficient.

Cautions

1. Do not loosen or tighten fittings when the system is pressurized.
2. When assembling a tube fitting, screw the nut while holding the body steady.

FITOK

Buigny pue sbumi4

ainssaid YbIH ® wnipa|y

sbuidnod yoInp

EEIEIN

S]0NPOId 89IAI8S INOS sJa)|i4 aul oInssalg UBIH g WNIPOW

SoAje) Basqng

=)
w
z
=
c
I3}
=
<}
>
12

uolje||e}su| pue s|joo|

uolBWIOU| [BOIUYDD



G-07 Tools and Installation Instructions

= Installation of Medium & High Pressure Coned
= @
2 .
25 and Threaded Connections ]
E'c% 1. Process the tube end into the structure as shown on the ga '
o
23 right. For dimensions please see the table below.
o
i / o
R (
=4
2
9
c L
=
s
[
s= Tube -
2o . T - Thread Size D L
< Q
& S O'Di: 1.D. B EE (Left Hand) in. (mm) in. (mm)
> .
% 1/4 x 0.109 2FH4 1/4-28 UNF 0.14 (3.6) 0.34 (8.7)
=
g 3/8 x 0.203 2FH6 3/8-24 UNF 0.25 (6.4) 0.44 (11.1)
(23
% 9/16 x 0.312 2FH9 9/16-18 UNF 0.41(10.3) 0.50 (12.7)
3/4 x 0.438 2FH12 3/4-16 UNF 0.56 (14.3) 0.63 (15.9)
- 1 x 0.562 2FH16 1-14 UNS 0.72 (18.3) 0.78 (19.8)
>
(-_1.’-! 1/4 x 0.083 6FH4 1/4-28 UNF 0.13 (3.2) 0.56 (14.3)
3 3/8 x 0.125 6FH6 3/8-24 UNF 0.22 (5.6) 0.75 (19.1)
9/16 x 0.188 6FH9 9/16-18 UNF 0.28 (7.1) 0.94 (23.8)
&
5 2. First, insert the tube through the gland, and then screw in the collar until the conical end of the tube showing 1-2 threads.
w
g 3. If possible, coat the cone tip with a small amount of lubricant which is compatible with the system media.
=
:‘U
8 . .
S Medium pressure High pressure
&
(TN / Tube\ﬂ\
2
g Gland
(0]
:)<, / \
<
]
Collar

=
(2}
—_
=
e
(]
=
o
35
"

uolje||BISU| PUB S|00]

4. Insert the tubing into the connecting port and finger tighten the gland.
5. Use a torque wrench to tighten the gland with the required torque shown in the table below while holding fitting

body or valve steady.

uoljew.ou| |ealuyo8|

FITOK



Tools and Installation Instructions G-08

Tube Required Torque for Required Torque for
0O.D. x I.D. Connection Standard Service Products Sour Service Products
in. ft.-Ibs. (N.m) ft.-Ibs. (N.m)

1/4 x 0.109 2FH4 20 (27.1) 10 (13.6)
3/8 x 0.203 2FH6 30 (40.6) 15 (20.3)
9/16 x 0.312 2FH9 55 (74.5) 30 (40.7)
3/4 x 0.438 2FH12 90 (122) 45 (61.0)
1% 0.562 2FH16 125 (170) 100 (135.6)
1/4 x 0.083 6FH4 25 (33.9) 15 (20.3)
3/8 x 0.125 6FH6 50 (67.8) 25 (33.9)
9/16 x 0.188 6FH9 110 (149.1) 55 (74.6)

nstallation of Medium & High Pressure Anti-vibration Gland Assembly

Anti-vibration Gland Assembly replaces the standard gland.

1.

Insert coned and threaded tubing through the Anti-vibration Gland Assembly in the correct order as shown in the following
figure, and then screw in the collar until the conical end of the tube showing 1-2 threads.

2. For medium pressure Anti-vibration Gland Assembly, tighten collet body to required torque for standard tube fittings while

holding fitting body or valve steady. Then finger tighten the gland nut, and tighten the gland nut 1-1/4 turns for initial
installation with a wrench while holding the collet body steady. For reinstallation, tighten the gland nut with a wrench from
finger tight to 3/4 turn.

3. For high pressure Anti-vibration Gland Assembly, use a torque wrench to tighten the gland with the required torque shown

in the table below while holding fitting body or valve steady.

Tube .
. Required Torque
O, x1.D. Connection ft.-lbs. (N.m)
1/4 x 0.083 6FH4 10 (13.6)
3/8 x 0.125 6FH6 28 (38.0)
9/16 x 0.188 6FH9 75 (101.7)
Medium pressure High pressure
Tubing
\_/\/ \A\
Slotted

Gland Nut Collet
Gland
Collet Body
. N
2/
Collar ||

NOTE: When installing, please follow the given method and required torque; otherwise it will affect the
performance of the product.

FITOK

Buigny pue sbumi4

ainssald YbIH 3 wnIps|\

EEIEIN
sJa)|i4 aul oInssely UBIH g WNIpep sbuiidno) oo

S]ONPOId 89IAI8S INOS

Sonje) easqng

=)
w
Z
=
c
I3}
=3
<}
=
7

uole||ejsu| pue s|joo|

uolBWIOU| [BOIUYDD|



FITOK Group

FITOK GmbH (Headquarter)
Sprendlinger Landstr. 115, 63069 Offenbach am Main, Germany
Tel.: +49 69 8900 4498 Fax: +49 69 8900 4495

FITOK, Inc.
13843 North Promenade Blvd., Suite 750, Stafford, Texas 77477, USA
Tel.: +1 281 888 0077 Fax: +1 281 582 4051

FITOK Incorporated

Block C, Zone E, Yingtai Industrial Park, Dalang Street,
Longhua New District, Shenzhen, 518109, China

Tel.: +86 755 2803 2500  Fax: +86 755 2803 2619

FITOK Middle East Oil Equipment Trading LLC
208-209, Makateb Tower, Airport Road, P.O.Box 185412, Deira, Dubai, UAE
Tel.: +971 4 2959 853 Fax: +971 4 2959 854

info@fitokgroup.com
www.fitokgroup.com

FK-IC-HO-01-EN-170505




